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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

1-Thunder is caused by lightning, which is essentially a stream of electrons that ... between or within
clouds or between a cloud and the ground.

1) flows 2) were flowing 3) have been flowed 4) is flowed

2-By the end of the 1700s, naturally occurring reserves of coal had been so severely depleted that the
majority ... an energy crisis when supplies ran out.

1) have feared 2) was feared 3) was fearing 4) feared

3-It was reported that neither clear guidelines nor a detailed plan ... before the project moved to the
next phase.

1) had thoroughly reviewed 2) were thoroughly reviewed

3) was thoroughly reviewed 4) has been thoroughly reviewing

4-Every proposal, report, presentation, and analysis submitted by the team ... in the last three months.
1) were evaluated 2) have evaluated 3) being evaluated 4) has been evaluated

5-A number of important documents related to the case ... regularly misplaced during the investigation
process, which often leads to delays in the timely resolution of issues.
1) have 2)is 3) are 4) has
6-The executive outlined a clear succession plan lest unforeseen departures ... the company vulnerable
to leadership gaps.
1) have left 2) left 3) leaves 4) leave
7-The committee recommends that the budget proposal ... to reflect emerging cost factors, which could
significantly impact profitability.
1) is adjusted 2) adjust 3) be adjusted 4) that adjusts
8-The new study suggests that implementing a more robust employee wellness program ... to higher
levels of employee engagement and retention.
1) leads 2) have led 3) leading 4) lead
9-It was vital that the leadership team ... the organization to improve overall performance and
employee morale.
1) considered restructuring 2) should consider restructuring
3) consider to restructure 4) considers restructuring
10-1t is of utmost importance that the committee ... a final decision by the end of the week to avoid
further delays.
1) make 2) had made 3) makes 4) to make
11-The police ... every report of suspicious activity, aiming to maintain public safety and ensure the law
is upheld in all situations.
1) investigates 2) is investigated 3) investigate 4) are investigated
12-Every nook and cranny of the old house ... a mysterious charm, whispering tales of its long and
storied past.
1) were holding 2) has been held 3) hold 4) holds
13-Statistics, when applied with careful consideration of bias and context, ... a very important tool for
researchers across various disciplines.

1) remains 2) remain 3) which remains 4) which remain
14-To ensure the success of the event, it is imperative that Martha ... the guest list as soon as possible.
1) is finalizing 2) finalizes 3) finalize 4) has to finalize

15-After realizing that her brother was involved in a car accident and taken to a hospital, Emilia insisted
that her husband immediately ... her to the hospital.
1) take 2) takes 3) took 4) has taken
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Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

16-The customers were satisfied ... the new restaurant’s delicious meals, friendly staff, and clean
environment, which exceeded their initial expectations.
1) for 2) by 3) from 4) with
17-She is a/an ... student who aims to graduate with honors and secure a leadership role in her chosen career.
1) ambitious 2) patient 3) compassionate 4) desperate
18-The new education policy will have a significant ... on student learning outcomes across the country.
1) impact 2) consequence 3) contribution 4) change
19-The artist used bold colors to ... the beauty of the landscape, making the painting more vivid and
eye-catching.

1) follow 2) conduct 3) enhance 4) evaluate
20-It took my best friend several months to ... the habit of checking her phone first thing in the morning.
1) create 2) break 3) gain 4) raise

21-In a/an ... society, individuals are often judged by their social status, which can create divisions and
tensions among different groups of people.
1) industrial 2) hierarchical 3) pedagogic 4) primitive
22-The vibrant colors and intricate designs of the artwork were enough to ... anyone’s attention as they
walked through the gallery.
1) draw 2) distract 3) derivate 4) entail
23-Despite the harsh realities of life, Amanda believed that moments of kindness and compassion offered
a vital source of ... to those in despair.
1) compensation 2) provision 3) vulnerability 4) consolation
24-To maintain the integrity of the experiment, the participants were kept under the ... of the research
team, who meticulously documented their actions and reactions throughout the study.
1) conjecture 2) surveillance 3) recklessness 4) empire
25-The international conference attracted attendees from all ... of life, each bringing their unique
insights to the discussions and fostering an atmosphere of collaboration and innovation.
1) surroundings 2) treks 3) methods 4) walks
26-As new technologies emerge, digital ... takes place, transforming industries and reshaping the way
individuals and businesses interact, often creating opportunities for innovation and growth.
1) expansion 2) complement 3) administration 4) prediction
27-The strict regulations ... the company’s operations to a narrow market segment, hindering their
potential for significant growth and expansion.
1) enlarged 2) optimized 3) confined 4) diversified
28-The ... beauty of human spirit lies in its resilience, compassion, and capacity for love, even in the face
of adversity and suffering.

1) inherent 2) parallel 3) elusive 4) eloquent
29-The ... over land rights has fueled generations of tension and violence, worsening social inequalities.
1) integrity 2) district 3) serenity 4) conflict

30-The medication was designed to ... the patient’s chronic pain, provide relief, improve their overall
quality of life, and make everyday activities more manageable.

1) alleviate 2) facilitate 3) cultivate 4) neglect
31-When confronted with the evidence of his wrongdoing, he chose to ... tail rather than face the
consequences.
1) cut 2) run 3) set 4) turn

32-In an effort to reduce waste in our production process, we need to carefully ... material usage at each
stage of manufacturing and identify areas for improvement.
1) measure 2) garner 3) broker 4) acquire
33-After countless attempts at solving the puzzle, I finally ... a strategy that made everything fall into
place seamlessly.
1) reeled in 2) pulled apart 3) liton 4) played out
34-Despite his seemingly generous offer to help with the project, many of us suspected that he had a/an
... motive, perhaps seeking to gain favor with the management for a future promotion.
1) attentive 2) ulterior 3) fierce 4) glaring
35-In ancient mythology, comets were often seen as ... of significant events or changes, and they were
believed to foretell everything from the rise and fall of empires to natural disasters that would alter the
course of history.
1) domiciles 2) lacerations 3) harbingers 4) barriers
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Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct
choice on your answer sheet.

36-
1) The scientist, having conducted numerous experiments, concluded that the hypothesis was valid.
2) Concluded the scientist that the hypothesis was valid who had conducted numerous experiments.
3) Having conducted numerous experiments, the hypothesis was concluded by the scientist to be valid.
4) The hypothesis concluded by the scientist, having conducted numerous experiments, to be valid.
37-
1) The flowers in the garden were bright and colorful attract many bees and butterflies.
2) In the garden, flowers colorful and bright attract many of the bees and butterflies.
3) The flowers attract many bees and butterflies colorful bright in the garden.
4) The bright, colorful flowers in the garden attract many bees and butterflies.
38-
1) The manager rather authorized her assistant than signed important documents in her absence.
2) Authorization by the manager to her assistant signed important documents in her absence.
3) The manager authorized her assistant to sign important documents in her absence.
4) The assistant authorized by her manager to sign important documents in her absence.
39-
1) Authorities reported that a man who drove over multiple individuals in a Texas mall by striking on
Saturday was shot and killed by the police.
2) Authorities reported that a man who drove into a Texas mall and struck multiple individuals on Saturday
was shot and killed by the police.
3) Authorities reported that a man had been driven into a Texas mall and struck multiple individuals on
Saturday was shot and killed by the police.
4) Authorities reported that a man whom driving struck multiple individuals in a Texas mall on Saturday
was shot and killed by the police.
40-
1) A key distinction between ministry and health insurance plans is negotiating the latter directly with
medical providers rather than reimburse members.
2) A key distinction between ministry and health insurance plans that the latter directly negotiate with
medical providers rather than reimbursing members.
3) A key distinction between ministry and health insurance plans is that the latter directly negotiate with
medical providers rather than reimburse members.
4) A key distinction between ministry and health insurance plans are the latter’s directly negotiation with
medical providers rather than reimbursing members.
Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.
A: Hey James, how’s the marketing strategy coming together?
B: So far so good! We’re really trying to ...(41)... this time to come up with creative ideas that will
set us apart.
A: That’s a great approach. Do you see this campaign leading to more opportunities down the
...(42)...?
B: Absolutely! If it goes well, I think we could attract some long-term clients and maybe even expand
into new markets.
A: Sounds promising, but do you think the CEQ’s goal of tripling sales within six months is
realistic?
B: Honestly, it feels like a ...(43)... . The target sounds amazing, but achieving it in such a short time
is a big stretch.
A: True, but with your creativity, I’m sure you’ll make something happen.

41-1) foot the bill 2) think outside the box

3) weather the storm 4) shake a leg
42-1) lane 2) street 3) road 4) way
43-1) ballpark figure 2) real dog

3) bitter pill to swallow 4) pie in the sky

A: I can’t wait to see the new boss. ’m sure I’m going to make a hit with him. I’ve got great ideas
that are bound to knock him out.
B: Let’s keep our fingers crossed, anyway.
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A: Do you think I’m ...(44)... ?

B: Not exactly, but it makes sense to sit tight till things come to light. Otherwise, you may end up
losing face.

A: Oh! How did this slip my mind? Others may think that I’m a bootlicker.

B: Yeah, because you’re a well-intentioned guy, others will think that you’re trying to ...(45)... .

A: Right! At least we got rid of Clare; she used to give me the creeps.

44-1) beside myself 2) in a bind 3) on the fence 4) jumping the gun
45-1) set him up 2) pull his strings
3) butter him up 4) get under his skin

Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the
correct choice on your answer sheet.

In the mid-20th century, astronomers were deeply engaged in understanding the vast, dynamic
systems that govern our universe. ...(46)... by the idea of identifying and categorizing ...(47)...
bodies, such as stars, planets, and galaxies, to uncover the underlying laws of physics that shaped
their behavior. However, despite remarkable advances in observational techniques, ...(48)... about
the cosmos continues to elude our direct comprehension. For instance, even though we can
calculate the orbits of planets with great precision, we still ...(49)... a complete understanding of the
forces behind gravitational anomalies or the precise origins of dark matter. We can observe
patterns in the sky, but the true nature of some cosmic phenomena remains mysterious.

In this context, astronomers of the 1950s and 1960s focused much of their energy on the process
of “classification.” This term refers to the task of analyzing astronomical data — whether light
curves, spectroscopic measurements, ...(50)... photographic images of distant galaxies — and
categorizing them into recognizable groups, such as types of stars or galaxies. A key challenge
«..(51)... between different heavenly objects based on subtle differences in their observed
characteristics. Early work in this area involved manual efforts, where astronomers classified
galaxies ...(52)... their shapes, such as spiral, elliptical, or irregular. The development of new
instruments, like the first radio telescopes, ...(53)... into the nature of distant objects. By the 1960s,
advances in computing allowed astronomers to begin using automated methods to process vast
amounts of data, leading to a more systematic and efficient way of classifying astronomical objects.
These breakthroughs ...(54)... the foundation for modern cosmology, which increasingly relies on
computational techniques to handle the ...(55)... volumes of data generated by modern

observatories.
46-1) Captivating many of them 2) While many of them were captivated
3) With many of them captivated 4) Many of them were captivated
47-1) lunar 2) celestial 3) marine 4) spatial
48-1) much of what we know 2) we know much
3) and our much knowledge 4) which knows much
49-1) lack 2) trace 3) contain 4) gain
50-1) and 2) so 3)or 4) but
51-1) has distinguished 2) was distinguishing
3) distinguished 4) was distinguished
52-1) due to 2) in order of 3) thanks to 4) based on
53-1) brought fresh insights 2) fresh insights were brought
3) freshly bringing insights 4) they freshly brought
54-1) shook 2) laid 3) put 4) paved
55-1) arrogant 2) trivial 3) enormous 4) negligible

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:
In colonial America, people generally covered their beds with decorative quilts resembling those
from the lands from which the quilters had come. Wealthy and socially prominent settlers made
quilts of the English type, cut from large lengths of cloth of the same color and texture rather than
stitched together from smaller pieces. They made these until the advent of the Revolutionary War
in 1775, when everything English came to be frowned upon.

Among the whole-cloth quilts made by these wealthy settlers during the early period are those
now called linsey-woolsey. This term was usually applied to a fabric of wool and linen used in
heavy clothing and quilted petticoats worn in the winter. Despite the name, linsey-woolsey
bedcovers did not often contain linen. Rather, they were made of a top layer of woolen or glazed
worsted wool fabric, consisting of smooth, compact yarn from long wool fibers dyed dark blue,
green, or brown, with a bottom layer of coarser woolen material, either natural or a shade of
yellow. The filling was a soft layer of wool that had been cleaned and separated, and the three
layers were held together with decorative stitching done with homespun linen thread. Later, cotton
thread was used for this purpose. The design of the stitching was often a simple one composed of
interlocking circles or crossed diagonal lines, giving a diamond pattern.

This type of heavy, warm, quilted bedcover was so large that it hung to the floor. The corners
were cut out at the foot of the cover so that the quilt fit snugly around the tall four-poster beds of
the 1700s, which differed from those of today in that they were shorter and wider; they were short
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because people slept in a semi-sitting position with many bolsters or pillows, and wide because each
bed often slept three or more. The linsey-woolsey covering was found in the colder regions of the
country because of the warmth it afforded. There was no central heating, and most bedrooms did
not have fireplaces.

56-What does this passage mainly discuss?

1) The processing of wool 2) Linsey-woolsey bedcovers
3) Sleeping habits of colonial Americans 4) Quilts made in England
57-The author mentions the Revolutionary War as a time period when ... .
1) quilts were supplied to the army 2) more immigrants arrived from England

3) quilts imported from England became harder to find 4) people’s attitudes toward England changed
58-The term “linsey-woolsey” originally meant a fabric used primarily in ... .
1) quilts 2) sheets 3) clothing 4) pillows
59-1t can be inferred from the third paragraph that the sleeping habits of most Americans have changed
since the 1700s in all the following ways EXCEPT ....
1) the position in which people sleep
2) the number of bolsters or pillows people sleep on
3) the length of time people sleep
4) the number of people who sleep in one bed
60-Which of the following was most likely to be found in a bedroom in the colder areas of the American
colonies?

1) A linsey-woolsey 2) A vent from a central heating system
3) A fireplace 4) A wood stove
PASSAGE 2:

It used to be that if you wanted to watch a sitcom or a sporting event, you’d have to watch it from
your television. As Internet technology improves, more and more shows and movies are becoming
available online. Broadcasting companies are putting their primetime shows directly on the
Internet, and movie rental stores are converting their DVD collections to digital libraries. This is
probably a good change—at least for viewers. [1] People can now pick exactly what they want to
watch, and decide when and how they want to watch it. A study done by Harris Interactive found
that more than half of Americans (56 percent) surf the Internet while “watching” television, and
approximately 40 percent say that they read blogs or go on social networking sites at the same
time. But this trend could be a problem for television stations. Advertisers aren’t getting a
response from viewers, and they don’t want to pay money if their commercials aren’t being seen.
In contrast, people who watch things online seem more engaged with what they watch. [2] They
read and write comments on the show, they look up details about the show, and they are less likely
to ignore commercials. For broadcasters, online viewers may turn out to be more loyal fans.

Changing people's habits takes time. Even though many people are interested in watching
television on the Internet, some may not want to make the switch completely. And some might be
persuaded to, but only under certain circumstances. According to Harris, almost half of television
viewers (44 percent) would cancel their cable television if they could get the same programs for
free online. However, the number fell to 16 percent when people were told they had to pay a small
fee for online viewing. This is strange, since most households' monthly cable bills are the same or
even more than what they would pay for the same shows online. [3]

Even with growing interest in online entertainment, people still think it is important to watch
television shows with their friends and family. People used to think that watching television would
make families spend less time together, but it actually brought families closer for a few hours each
night. [4] Now it's feared that viewing shows online could make people more isolated. Who knows?
Perhaps as online programming becomes more popular, people will find a way to make it into a
social activity.

61-The pronoun “this” in paragraph 1 refers to the ... .
1) declining viewership of traditional television broadcasts
2) fact that viewers are less engaged with online content
3) study conducted by Harris Interactive
4) increasing availability of shows and movies online
62-The passage provides sufficient information to answer which of the following questions?
1) What types of blogs or social networking sites are most frequently accessed while watching television?
2) Why might advertisers be hesitant to invest in television commercials given the current viewing trends?
3) Will the rise of online viewing ultimately benefit smaller, independent television producers?
4) How might the shift towards online viewing affect the employment landscape in the television industry?
63-Which of the following statements is TRUE, based on the passage?
1) The transition to online viewing has happened quickly and seamlessly for most viewers.
2) There are no potential solutions to the problem of social isolation caused by online viewing.
3) Compared to other viewing methods, online viewers tend to be less interactive with the material.
4) A small fee for online TV significantly reduced the number of people willing to switch from cable.
64-In which position marked by [1], [2], [3], or [4] can the following sentence best be inserted into the passage?
“It’s possible that people have become so used to getting online entertainment for free that they
learn not to value it as much.”

D[] 2)[4] , 3)[3] , 4 [2]
65-Which of the following words best describes the author's tone in the passage?
1) Objective 2) Critical 3) Apprehensive 4) Euphoric
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PASSAGE 3:
The Arabic language occupies a unique space in the linguistic landscape, distinguished by the
pronounced divergence between its written form—Modern Standard Arabic (MSA)—and its
spoken dialects. This duality, known as diglossia, marks a linguistic phenomenon where two
varieties of the same language coexist, yet serve distinct purposes in everyday life. The written
form, largely derived from Classical Arabic, remains formal, fixed, and universal across the Arab
world; it is the language of literature, media, education, and formal discourse. In contrast, the
spoken dialects—commonly referred to as ‘ammiyya—are regionally specific, evolving
dynamically within local cultures and through interactions with other languages.
Modern Standard Arabic, as the descendant of Classical Arabic, holds a central place in both
cultural and religious life. Its enduring presence owes much to the Qur’an, which codified the
language’s structure, vocabulary, and syntax in a way that lent it both sacred significance and
remarkable stability. Over the centuries, MSA has served as a unifying force across Arabic-
speaking nations, transcending regional boundaries. However, while the core of the language
remains anchored in tradition, it has also adapted to the demands of modernity. The absorption of
words from science, technology, and global culture—terms like tilifizytin (television), kumbyiitar
(computer), and intarnet (internet)—demonstrates how Arabic remains functional while
maintaining its formal identity. Conversely, the spoken dialects of Arabic are vibrant, flexible, and
deeply regional. From the Maghreb in North Africa to the Levant, the Arabian Peninsula, and
beyond, every community speaks its own variant of ‘ammiyya, influenced by geography, historical
events, and cultural exchange. While the underlying grammatical structure remains broadly
recognizable, pronunciation, idioms, and vocabulary vary dramatically. A simple expression such
as “how are you?” exemplifies this variety: keef halak? in the Levant, izzayak? in Egypt, and labas
‘lik? in parts of Morocco. These differences, while subtle in isolation, accumulate to form distinct
linguistic identities across regions. This divide between the formal and the vernacular has grown
sharper over time, fueled by urbanization, globalization, and the influence of media. Television and
social platforms have given prominence to specific dialects—such as Egyptian and Levantine—
exposing them to wider audiences and facilitating their spread. Yet, Modern Standard Arabic
retains its role as a linguistic anchor: the language of official documents, formal speeches, and pan-
Arab identity.
66-The underlined word “pronounced” in paragraph 1 is closest in meaning to ... .
1) subtle 2) noticeable 3) insignificant 4) invisible
67-According to paragraph 1, which of the following statements is NOT true?
1) Modern Standard Arabic and its regional dialects have distinct functions within the Arab world, yet they
are frequently used interchangeably.
2) Modern Standard Arabic originates from Classical Arabic and is employed in formal contexts such as
writing, education, and media.
3) The spoken dialects of Arabic continuously adapt within local cultures, with unique regional differences
shaped by geography and historical events.
4) Diglossia is the phenomenon where a single language has both formal and informal variations, each
used in different regional contexts.
68-Why does the author mention terms like tilifizytin, kumbyiitar, and intarnet in paragraph 2?
1) To emphasize the widespread use of these words in everyday conversations, indicating their acceptance
in regional dialects
2) To show how Arabic dialects, such as Egyptian and Levantine, use similar borrowed terms to bridge
cultural gaps
3) To illustrate the resistance of Modern Standard Arabic to the introduction of foreign words, keeping the
language unchanged
4) To demonstrate how Modern Standard Arabic adapts to contemporary terms while maintaining its
traditional structure and role across Arabic-speaking areas
69-According to paragraph 2, which of the following statements can best be inferred about the divide
between the formal and the vernacular language?
1) The growing distinction between formal and vernacular languages may reflect cultural shifts and
changes in communication patterns across the Arab world.
2) Over time, the difference between Modern Standard Arabic and dialects has become irrelevant in
everyday communication across the Arab world.
3) The spread of media and urbanization has likely reduced the significance of regional dialects, making
them more uniform.
4) The rise of modern technology has led to the decline of the formal language, Modern Standard Arabic,
in favor of vernacular dialects.
70-Which of the following best describes the author’s purpose in the passage above?
1) To highlight the influence of historical events on the development of the Arabic language and its formal
structure
2) To explain how Modern Standard Arabic and its dialects are interchangeable in both formal and
informal settings across regions
3) To explore the concept of diglossia and how Arabic maintains a balance between formal and informal
linguistic varieties
4) To provide an overview of the regional variations in Arabic dialects and how they affect communication
among Arabs from around the world
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